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All Questions are compulsory and each question is of 1 mark.

(ii) w0 ot 7 o e B Refer F sigon arqare gt v
Only English version is valid in case of difference in both the languages,

Fofarr # srezge == ol
#include <stdio.h>
void main( )
{
int kx10;
ke +4k
printf ("\n%d”k);
(@ 11
M 1
© O
@ 12

RST75'#ﬁmmdrf§vrﬁrrsmv
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(a) ¥&a

(b) =

() oe e qgST
(d) 3o & & ok

What will be the output of the
following ? :
#include <stdio.h>
void main( )
( ,

int k=10;

k= +4k

printf (“\n%d" k);
(@ 11
b 1
© 0

@ 12

What is type of triggering used in
RST7.57?

(&) Level
(b) Edge
(c) Level and Edge
(d) None of the above
P.T.O.
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#include <stdioh>

void main()

{

printf(“Rajast\bthan”);

}
(@) Rajastthan  (b) Rajastbthan
(¢) Rajasthan (d) Rajast than
W - n e, A SR
HIEPRIATT -
(@ 8008 (b) 4004
(¢) 8088 (d 8080

fr=fafige & @ =W @ ‘C’ SR
Had A7

(@ main  (b) void

(¢) volatile (@ struct

QY AT HT var T &
(a) W

(b) =ENES eRA

(c) ¥ (a) T (b)
@) v § g

TRAP % fie S\ € RST¥?
(a) RST4 (®) RSTSS
(¢) RST45 (d RST7S

3083 3 2 W Rw R E?
(a)  FIFO () FILO
(¢ LILO @ LIFO

Z %1 T 34T 8 ?

¥ int z;
x=8,y=~10,2a=4,b=2;
Z=X++—(—=-Y) xbla;

(a) 105 ® 10
@ 0 @ =05

@
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What will be the output of the
following program segment ?
#include <stdio.h>
void main()
{ -
print f(*Rajast\bthan"”);
} ' )
()) Rajastthan  (b) Rajastbthan
() Rajasthan (d) Rajast than

First n channel, second generanon
MiCroprocessor was

(a) 8008
(c) 8088

(b) 4004
(d) 8080 -

~ Which one of the following is not a

reserved keyword for ‘C' ? |
(a) main ® void
(c) volatile (d) struet’

Size of array is known at
() Runtime

(b) Compile time

(¢) Both (a) atd (b)
(d) None of the above

What is RST for TRAP ?
(& RST4 () RSTS5.5
(c) RST4.5 (d) RST7S5

Which is stack in 8085 ?
(8 FIFO (b) FILO
(¢) LILO @) LIFO

Whatwillbethevalueon?
Ifint z;
x=5y=-10,a=4,b= 2

ze X4+~ (—-y) » bla; »
(@ 105 ®) 10
© © @ -05
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(2) U I T
(b) W sifenT HTw W U
(©) W& W W HA

() R AR

o X W Ascnqh 1oy

1 HF 18T 9

WY =(X -'PW3;
@@ 1 () 166
(d) 2.66

ﬁmﬁa&m m YUT F AT
e
# inclyde <stdio.h>
void main( )
{ .
int i=50;
int » j=& i;
printf (\n%d”, ++ *());
} .
(a) 49

® 50

©
(d T =t

i o 2w W R
(BECdok 3
() RD,HOLD,S, S,

(b) HOLD, S, §,, WR

(© ALE,1IO/M, RD
@ 8, 8, 10/M, ALE

> -

@
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10, If you pass an array as an argument
to a function, what actuplly gets
passed ?

(a) First element of the array

(b) Address of the least element
of array.

(c) Value of elements in array,

(d) Base address of the atray.

11, If ASCII value of ‘X’ is 120, then
what will be the value of Y ?

Y =(X - P)3;
@ 1 ®) 166
© 2 @ 266

12, What would be the output of the
following program segment ?
# include <stdio.h>
void main( )
L
int §=50;
- int» j=&i; ,
- printf (“\a%d”, ++ *(j));
} \
(a 49
(®) 50
© 51
(d) Noue of the above

13, What will be the valid status slgnal
growp?
(a) RD,HOLD,S,, S,
(® HOLD, S, §;, WR
(c) ALE, IOM, RD

P.T.O.
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14.

15.

16.

17.
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19.

froafefan & 3 Ioer we e (S/H)

(a) gL, F frmrer o st
) g A Pt ke
(c) WU e, A feavster 9t wifter
(d) i gu ¥, w1 forer ot it

PN W B THRL T 2
(a) Exten

(b) Register

(c) Global
@) T & B

fop=t v @UT # SrSege w
char x = 10;

printf (“%d”, ~x);

@@ 10

® -10
 -11

@ wEARE

© sqﬂﬂﬂaﬁ(a)m(b)
d THaFEw

?ﬂ w fodfee W el wee
) A
(@) while
(¢) switch-case

CMA wwivg # Fiy erart, wim aur
w3fé wite i wa feafey vl 2

(a) 2%me, ueft, e

(b) 1%z, ¥ CS, FoRRwE
© 13w B, P
d) 29T, B, e

® if
(d) if-else

14.

15.

16.

17.

18.

19.

o

2045

Which is the true statement for

Sample and HOLD (S/H) circuit

(@) Low Droop rate, slow
acquisition of signal.

(b) High Droop rate, fast

. acquisition of signal. .

(c) Low Droop rate, fast
acquisition of signal.

(d) High Droop rate, low
acquisition of signal.

Which is not the type of vanable ?

(a) Extern

(b) Register

(¢) Global

(d) None of the above

What will be the output —of
following program segment ?
char x = 10;

printf (“%d”, ~x);

(@ 10

() -10

© -1

(d) None of these

An array can be declared
(a) Statically

(b) Dynamically

(c) Both (a)and (b)
(d) None of these

Which is not the selective control
flow statement ?
(a) while

(©) switch-case

() if
(d) if-else

What is the instruction length, ﬂag
and addressing mode position in
CMA command ? :

(a) 2 Byte, All, Register
(b) 1Byte, Only CS, Indirect
(c) 1 Byte, None, Implicit

@ 2 Byte, None, Implicit
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20. W AGE ¥ TEM OR T wl

21

@

e aor sEE fem e dt e

(a) aftrewt (-100 ¥ + 100 °C)

(b) SHIEERERT (~200 & + 2500 °C)
(¢) mRiEERt (+ 150 / 5500 °C)

(@ iRy guiHiewt (~200% + 300 °C)

intptr; 28 ptr e sBIRE & T
3

(a) int®

(b) float =¥

(¢) double ™

= & e wE N ¥ 2

(a) intadd (int, int);

- () intadd (float, int);
@ fioat add (int, int);

23,

" (d) float add (float, int);

o ] R T W S s

A S Re S & 2

25.

(¢) SAAMAC

ZTAP.
CSaMZ

@ Csms (@

@

e T A Ak

@ ROM B
(¢ DRAM (@@

SRAM
EPROM

STEETRIET % TRt amiRe ¥
(a) G

(b) oW W e
(© T
(@) PR FER

R N

®

21.

22.

23.

235.

(¢) DRAM

o 2045
Which is valid device and rating
for temperature measurement ?

(a) Thermistors (~100 to + 100 °C)
(b) Thermocouples (-200t0+2500°C)
(c) Pyrometers (+ 150 to 5500 °C) -

(d) Resistance thermometers (~200
to + 300 °C)

intxptr; heré ptr can store the
address of

(a) int viriable

(b) float variable

(c) double variable

(d) All of the above

Which is the incorrect function
prototype ?

(a) int add (int, int);

(b) int add (float, int);

() float add (int, int);

@ ﬂoat"add (float, int);

Whlch are two flags used to

measure frequency 7

(a CSand$S (b) ZandP

(¢) SandAC (d) CSandZ

Access time is faster for

(a) ROM () SRAM
(d EPROM

What does mlcroproeessor speed
depends on ?

(@ Clock

(b) Data base width
(c) Address bus width
(d) Size of register

P.T;0.
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27.

28,

29,

30.

B O = Reetwer w2
(@) W

b

(c) wHEFR
(d) oS R A

‘C W # e o W s w
ferg =nfive

(a) Fwfer fwew

(b) ¥ ey

(c) WTReR

(d) S it

mﬁawwmm}
T g | quERe w82

(a) WO
(b) R
c) =T
(d) IR R AE

CPU ¥} &
(@) W
(b) I
(c) I
@ i

PUSH PSW W e ey oo
feeth B

(a) 29, FATCS
(b) 1me,wht

(c) 2eme, g Wi
(d) 1, =

)

26.

27.

28.

29.

2045
Which is not the feature of C
language ?
(a) Portable
(b) Terse
() Modular
(d) None of these

Require to write ‘and run C
Program

(a) Operating System

(b) Text editor

(¢) Compiler

(d) All of the above

Which is used to store machme
code in a separate file ?

(a) Interpreter
(b) Compiler

(c) Assembler

(d) None of the abave

CPU memory is
(8 RAM

(b) ROM

(c) Register
(d) Hard disk

What is the position of ingtruction
length and flags position in PUSH
PSW ?

(a) 2Byte, Only CS

(b) 1Byte, All

(c) 2Byte, None

(@) 1Byte, None

© wan
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e (i) p——— Ly

Note : Question No. 1 is compulsory, answer any five questions from the remaining. -
(if) e e & el arl ) A g A 6 Hi |
Solve all parts of a question consecutively together.
(i) 5 T ) 74 9 & AT N | ’
Start each question on a fresh page.
(iv) o o s g3 @ Rerfy & st sryarr gt &
Only English version is valid in case of difference in both the languages.

1. () 8085 TR ¥ Tde 4 AUt AR GRW/SR o ST A |
* Explain the difference between Address Bus and Multlplexed address/data bus in
~ 8085 Microprocessor.

(i) 8083 mﬁmﬁﬁﬁﬂm%mﬂaﬂﬁ |
Write down the names of various registers in 8085 mwtoprocessor
(i) FEI Y HSITE o T Ffiaer i |
. Classify various console input/output functions.
(v) “for” @ “while” &[T T Wrew faflad |
Write down the syntax of “for and “while” loop.
(v) et st R St il wene |
Explain “Definition of Structure” with example. - (2x5)

2. (i) 808 GHMAT ¥ REW T H FHHIE |
Explain the status flags of 8085 MP.
di) 808 TrERIER Wt fr R TR | -
Explain Pin COnﬁguratlon of 8085 Mlcroprocessor. (6+6)

) P.T.0.
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() B08S AEPMNET ¥ T frge Iwifivn 37 ADC, e war Bes GRuY ¥ s ',
T Wi e -

Explain the block diagram, suitable for electrical application of ADC and Sample

and Hold Circuit for 8085 Microprocessor.

(i) 8085 HTHAINIET ¥ HEraaT ¥ AUAR Ay @ frfdr # s |
Explain method of temperature measurement using 8085 microprocessor. - (6+6)

(@) & ot it el F @ wg dear we w0 ol s o s Rl |
. Write a program in ‘C’ language to find greater number between three given
integer numbers.
(i) Frefw swe rer =t wrme |
Expldin Enumerated data type. (6+6)

(@ ﬁwaﬁmﬁwnwﬁmmﬁﬁtﬁwﬁ‘mﬁmwz
Write a program in ‘C’ language to caleulate sum of the following series upto

Z-1 1[Z-1 1{Z~1
Y==3 +5[ 7 ]24-3[: ‘Z']s+....,..+uptoN“‘tegm.
(i) Q= iR o SRl B T | | ,
Explain classification and initialization of asrays. : ‘ 6+6)

@)  for, while T do-while T¥ # sFw wHwER | |
Explain the difference between for, while ang do-while loeps. .
(i) 1% 10 @ #t gtw Foursll ) Nea W for o A oo & g v 3 s AR | -

Wiite a program in ‘C” language o add integer numbers fram 1 to 10 using ‘for”
loop. _ : , 66
() ®2-D R A w < awr F o o |
Write a program in C languagg:to add two 2-D arrays.
(i) O % Pier B B Rt T |
~ Explain methods of function calling. | (6+6)  ommmmen

Fretfotae ot v femfort fefierd :
Write short notes on the followings :

()

Pointer

(ii) TG 7 G W o
Comparision between structure and union.

(idi) co o

Recursion - : ®a3)



